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Question Id : 92090625610 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Amid consistent rise in deaths of pedestrians and cyclists, Punjab has taken the lead
among the states and UTs to implement the ‘right to walk’ by making it mandatory for all
road owning agencies, including the NHAI, to provide foot path and cycle tracks in all
future expansion of roads and construction of new ones, reports Dipak Dash.

The state government has issued these directions following two court orders after

PILs were filed at Punjab and Haryana HC and another in the Supreme Court.
As per a communication from Punjab chief secretary Vijay Kumar Janjua to Punjab
government’s traffic adviser, Navdeep Asija, “in future all expansions of existing roads and
construction of new roads, a mandatory provision of cycle tracks and footpaths should be
made by all road owning departments and agencies”.

The letter sent last week added that all agencies such as the public works
department, local bodies, NHAl and urban development departments have been
instructed to prepare an action plan to construct footpaths and cycle tracks with a time
frame and budget provision.

TIMES VIEW: The right to walk is a cool idea. Pedestrian walkways and cycle tracks must
be built everywhere. However, we must also audit the existing tracks and examine their
lacunae. For instance, such tracks are regularly invaded by motorbikes. That apart,
pedestrian-only tracks often have huge gaps, which makes walking a dangerous exercise.
In other words, the right to walk must be converted into a proper mission with every angle
taken care of to make it a success.

Sub questions

Question Number : 1 Question Id : 92090625611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . Amid consistent a decline in deaths of pedestrians and cyclists,
Punjab has taken the lead among the states and UTs to implement
the ‘right to walk'.

Statement I . The state government has issued these directions following two court
orders aften PILs were filed.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is true but Statement Il is incorrect

4) Statement | is false but Statement Il is correct

Options :

920906101201. 1
920906101202. 2
920906101203. 3
920906101204. 4

Question Number : 2 Question Id : 92090625612 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One of the lacunae associated with existing tracks, cycle tracks is:

(1)  motor bikes often use to go in them.
(2) Right to walk is exclusive in such cycle tracks.
(3)  Cycle tracks are clean and properly lighted.

(4) A much accomplished mission.

Options :

920906101205. 1
920906101206. 2
920906101207. 3
920906101208. 4

Question Number : 3 Question Id : 92090625613 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which department was not instructed to prepare action plan for foot path construction.

(1) NHAI (2) PWD
(3) ubD (4) Rural development department (RDD)
Options :

920906101209. 1
920906101210. 2
920906101211. 3
920906101212. 4

Question Number : 4 Question Id : 92090625614 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The synonym of ‘lacunae’ is:

(1) Characteristic (2) Cavity
(3) Prominent portium (4) Speciality
Options :

920906101213. 1
920906101214. 2
920906101215. 3
920906101216. 4

Question Number : 5 Question Id : 92090625615 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Full form of PIL is:

(1)  Private Insight Litigation (2) private Interest Litigation
(3)  Public Independent Litigation (4) Public Interest Litigation
Options :

920906101217. 1
920906101218. 2
920906101219. 3
920906101220. 4



Question Id : 92090625610 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Amid consistent rise in deaths of pedestrians and cyclists, Punjab has taken the lead
among the states and UTs to implement the ‘right to walk’ by making it mandatory for all
road owning agencies, including the NHAI, to provide foot path and cycle tracks in all
future expansion of roads and construction of new ones, reports Dipak Dash.

The state government has issued these directions following two court orders after

PILs were filed at Punjab and Haryana HC and another in the Supreme Court.
As per a communication from Punjab chief secretary Vijay Kumar Janjua to Punjab
government’s traffic adviser, Navdeep Asija, “in future all expansions of existing roads and
construction of new roads, a mandatory provision of cycle tracks and footpaths should be
made by all road owning departments and agencies”.

The letter sent last week added that all agencies such as the public works
department, local bodies, NHAl and urban development departments have been
instructed to prepare an action plan to construct footpaths and cycle tracks with a time
frame and budget provision.

TIMES VIEW: The right to walk is a cool idea. Pedestrian walkways and cycle tracks must
be built everywhere. However, we must also audit the existing tracks and examine their
lacunae. For instance, such tracks are regularly invaded by motorbikes. That apart,
pedestrian-only tracks often have huge gaps, which makes walking a dangerous exercise.
In other words, the right to walk must be converted into a proper mission with every angle
taken care of to make it a success.

Sub questions

Question Number : 1 Question Id : 92090625611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . Amid consistent a decline in deaths of pedestrians and cyclists,
Punjab has taken the lead among the states and UTs to implement
the ‘right to walk'.

Statement I . The state government has issued these directions following two court
orders aften PILs were filed.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is true but Statement Il is incorrect

4) Statement | is false but Statement Il is correct

Options :

920906101201. 1
920906101202. 2
920906101203. 3
920906101204. 4

Question Number : 2 Question Id : 92090625612 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One of the lacunae associated with existing tracks, cycle tracks is:

(1)  motor bikes often use to go in them.
(2) Right to walk is exclusive in such cycle tracks.
(3)  Cycle tracks are clean and properly lighted.

(4) A much accomplished mission.

Options :

920906101205. 1
920906101206. 2
920906101207. 3
920906101208. 4

Question Number : 3 Question Id : 92090625613 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which department was not instructed to prepare action plan for foot path construction.

(1) NHAI (2) PWD
(3) ubD (4) Rural development department (RDD)
Options :

920906101209. 1
920906101210. 2
920906101211. 3
920906101212. 4

Question Number : 4 Question Id : 92090625614 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The synonym of ‘lacunae’ is:

(1) Characteristic (2) Cavity
(3) Prominent portium (4) Speciality
Options :

920906101213. 1
920906101214. 2
920906101215. 3
920906101216. 4

Question Number : 5 Question Id : 92090625615 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Full form of PIL is:

(1)  Private Insight Litigation (2) private Interest Litigation
(3)  Public Independent Litigation (4) Public Interest Litigation
Options :

920906101217. 1
920906101218. 2
920906101219. 3
920906101220. 4

Sub-Section Number : 2



Sub-Section Id : 920906823
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 6 Question Id : 92090625616 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct sentence:

(1) This in the best film that | am even seen.
(2) This in best film that | have ever seen.
(3) This in the best film that | have never seen.

(4) This in the best film that | even seeing.

Options :

920906101221. 1
920906101222. 2
920906101223. 3
920906101224. 4

Question Number : 6 Question Id : 92090625616 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sentence:

(1) This in the best film that | am even seen.
(2) This in best film that | have ever seen.
(3) This in the best film that | have never seen.

(4) This in the best film that | even seeing.

Options :

920906101221. 1
920906101222. 2
920906101223. 3
920906101224. 4

Question Number : 7 Question Id : 92090625617 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct indirect narration for the following sentence:
The poor examinee said, “O God take pity on me.”

(1)  The poor examinee prayed God to take pity on him.
(2)  The poor examinee, invoking God, implored him to take pity on him.
(3)  The poor examinee exclaimed that God take pity on him.

(4)  The poor examinee asked God to take pity on him.

Options :

920906101225. 1
920906101226. 2
920906101227. 3
920906101228. 4

Question Number : 7 Question Id : 92090625617 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct indirect narration for the following sentence:
The poor examinee said, “O God take pity on me.”

(1)  The poor examinee prayed God to take pity on him.
(2)  The poor examinee, invoking God, implored him to take pity on him.
(3)  The poor examinee exclaimed that God take pity on him.

(4)  The poor examinee asked God to take pity on him.

Options :

920906101225. 1
920906101226. 2
920906101227. 3
920906101228. 4

Question Number : 8 Question Id : 92090625618 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct passive voice form of the following sentence:
Why was she looking at the scenery?

(1)  Why was the scenery looking at by her?

(2)  Why was the scenery being looked at by her?
(3) Why did she look at the scenery?

(4)  Why was the scenery being looked by her?

Options :

920906101229. 1
920906101230. 2
920906101231. 3
920906101232. 4

Question Number : 8 Question Id : 92090625618 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct passive voice form of the following sentence:
Why was she looking at the scenery?

(1)  Why was the scenery looking at by her?

(2)  Why was the scenery being looked at by her?
(3) Why did she look at the scenery?

(4)  Why was the scenery being looked by her?

Options :

920906101229. 1
920906101230. 2
920906101231. 3
920906101232. 4

Question Number : 9 Question Id : 92090625619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the option which is opposite in meaning to the following word:

barbaric

(1) primitive (2) civilized

(3) modern (4) uncivilized
Options :

920906101233. 1
920906101234. 2
920906101235. 3
920906101236. 4

Question Number : 9 Question Id : 92090625619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the option which is opposite in meaning to the following word:

barbaric

(1 primitive (2) civilized

(3) modern (4) uncivilized
Options :

920906101233. 1
920906101234. 2
920906101235. 3
920906101236. 4

Question Number : 10 Question Id : 92090625620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out the part of speech of the underlined word in the following sentence.

Natural thrist is more graciously gratified by water.

(1) verb (2) adjective
(3) noun (4) adverb
Options :

920906101237. 1
920906101238. 2
920906101239. 3



920906101240. 4

Question Number : 10 Question Id : 92090625620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out the part of speech of the underlined word in the following sentence.

Matural thrist is more graciously gratified by water.

(1) verb (2) adjective
(3) noun (4) adverb
Options :

920906101237. 1
920906101238. 2
920906101239. 3
920906101240. 4

Question Number : 11 Question Id : 92090625621 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of chromosome present in Human?

(1) 40 pairs (2) 24 pairs
(3) 23 pairs (4) 32 pairs
Options :

920906101241. 1
920906101242. 2
920906101243. 3
920906101244. 4

Question Number : 11 Question Id : 92090625621 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of chromosome present in Human?

(1) 40 pairs (2) 24 pairs
(3) 23 pairs (4) 32 pairs
Options :

920906101241. 1



920906101242. 2
920906101243. 3
920906101244. 4

Question Number : 12 Question Id : 92090625622 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As of 2020, how many languages in India are given the states of classical languages in
constitution of India?

(1) six (2) eight
(3) seven (4) five
Options :

920906101245. 1
920906101246. 2
920906101247. 3
920906101248. 4

Question Number : 12 Question Id : 92090625622 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As of 2020, how many languages in India are given the states of classical languages in
constitution of India?

(1) six (2) eight
(3) seven 4) five
Options :

920906101245. 1
920906101246. 2
920906101247. 3
920906101248. 4

Question Number : 13 Question Id : 92090625623 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
Dadasaheb phalke Award Year  Lifetime achievement, Name of the
awardee
(A) 2017 ()  Rajnikanth
(B) 2018 (1 Asha Parekh
(C) 2019 () Vinod Khanna
(D) 2022 (IV) Amitabh Bachchan

Choose the correct answer from the options given below:

(1) (A-), B)-(), (C)-(I), (D)-(IV)
(2)  (A)-(1), (B)-(IV), (O)-(1). (D)-(1N)
(3) (A=, (B)-(), (C)-(IV), (D)-(1)
4) (A=), (B)-(1), (C)-(I), (D)-(1)

Options :

920906101249. 1
920906101250. 2
920906101251. 3
920906101252. 4

Question Number : 13 Question Id : 92090625623 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
Dadasaheb phalke Award Year  Lifetime achievement, Name of the
awardee
(A) 2017 ()  Rajnikanth
(B) 2018 (1 Asha Parekh
(C) 2019 () Vinod Khanna
(D) 2022 (IV) Amitabh Bachchan

Choose the correct answer from the options given below:

(1) (A-), B)-(), (C)-(I), (D)-(IV)
(2)  (A)-(1), (B)-(IV), (O)-(1). (D)-(1N)
(3) (A=, (B)-(), (C)-(IV), (D)-(1)
4) (A=), (B)-(1), (C)-(I), (D)-(1)

Options :

920906101249. 1
920906101250. 2
920906101251. 3
920906101252. 4

Question Number : 14 Question Id : 92090625624 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . According to the Global Innovation Index, 2021 India has ranked
46" in the Global Innovation Index, 2021.

Statement Il . According to the Global Innovation Index, 2021 the Republic of Korea
Joins the top 5 of the Gl for the first time in 2021.

In light of the above statements, choose the most appropriate answer from the options
given below

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement |l is correct

Options :

920906101253. 1
920906101254. 2
920906101255. 3
920906101256. 4

Question Number : 14 Question Id : 92090625624 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . According to the Global Innovation Index, 2021 India has ranked
46" in the Global Innovation Index, 2021.

Statement Il . According to the Global Innovation Index, 2021 the Republic of Korea
Joins the top 5 of the Gl for the first time in 2021.

In light of the above statements, choose the most appropriate answer from the options
given below

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement |l is correct

Options :

920906101253. 1
920906101254. 2
920906101255. 3
920906101256. 4

Question Number : 15 Question Id : 92090625625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the first PIO women to set record of 1397 km (at —50 °C) solo, unsupported track to
South Pole?

§))] Harpreet Chandi (2) Arunima Sinha
(3) Bachendri Pal (4) Junko Tabei
Options :

920906101257. 1
920906101258. 2
920906101259. 3
920906101260. 4



Question Number : 15 Question Id : 92090625625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the first PIO women to set record of 1397 km (at —50 °C) solo, unsupported track to
South Pole?

(1) Harpreet Chandi (2) Arunima Sinha
(3) Bachendri Pal (4) Junko Tabei
Options :

920906101257. 1
920906101258. 2
920906101259. 3
920906101260. 4

Question Number : 16 Question Id : 92090625626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

After interchanging the first and last digits in each of the following numbers, identify the
correct sequence of numbers in the ascending order.

A 216
B. 793
C. 682
D. 497
E. 385

Choose the correct answer from the options given below

() BCGCAED (2) B.CEAD
3) CB.EAD 4) CAEBD
Options :

920906101261. 1
920906101262. 2
920906101263. 3
920906101264. 4



Question Number : 16 Question Id : 92090625626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

After interchanging the first and last digits in each of the following numbers, identify the
correct sequence of numbers in the ascending order.

A 216
B. 793
C. 682
D. 497
E;, 385

Choose the correct answer from the options given below

(y BGCAED (2) B.CEAD
® GBEAD (4 CAEBD
Options :

920906101261. 1
920906101262. 2
920906101263. 3
920906101264. 4

Question Number : 17 Question Id : 92090625627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rama said to mohan “Last Monday | defined the sister of the only son of any grandfather”.
Whom did rama defect?

()] Mother (2) Aunty
(3) Daughter (4) Sister
Options :

920906101265. 1
920906101266. 2
920906101267. 3
920906101268. 4



Question Number : 17 Question Id : 92090625627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rama said to mohan “Last Monday | defined the sister of the only son of any grandfather”.
Whom did rama defect?

(1) Mother (2) Aunty
(3) Daughter (4) Sister
Options :

920906101265. 1
920906101266. 2
920906101267. 3
920906101268. 4

Question Number : 18 Question Id : 92090625628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Preeti, Kirti, Rinki and Swati get one flower each from among Rose, Marigold, Dahlia or
Tulip whose plants are placed in a sequence in the garden. Rinki gets the Dahlia flower.
Marogold plant is adjacent to the Tulip plant. Preeti does not get the flower from the
plant adjacent to the plant whose flower was given to Rinki. Dahlia plant is the only plant

in between the Marigold and Rose plants. Which flower does preeti get?

(1) Rose (2) Marigold
(3) Dahlia (4) Tulip
Options :

920906101269. 1
920906101270. 2
920906101271. 3
920906101272. 4

Question Number : 18 Question Id : 92090625628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Preeti, Kirti, Rinki and Swati get one flower each from among Rose, Marigold, Dahlia or
Tulip whose plants are placed in a sequence in the garden. Rinki gets the Dahlia flower.
Marogold plant is adjacent to the Tulip plant. Preeti does not get the flower from the
plant adjacent to the plant whose flower was given to Rinki. Dahlia plant is the only plant

in between the Marigold and Rose plants. Which flower does preeti get?

(1) Rose (2) Marigold
(3) Dahlia (4) Tulip
Options :

920906101269. 1
920906101270. 2
920906101271. 3
920906101272. 4

Question Number : 19 Question Id : 92090625629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series: 11, 18, 13, 20, 15, ....... Which one of the following numbers should
come next in the series?

(g & (2) 22
(3) 23 4) 24
Options :

920906101273. 1
920906101274. 2
920906101275. 3
920906101276. 4

Question Number : 19 Question Id : 92090625629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series: 11, 18, 13, 20, 15, ....... Which one of the following numbers should
come next in the series?

(m 21 (2 22
(3) 23 4) 24
Options :

920906101273. 1



920906101274. 2
920906101275. 3
920906101276. 4

Question Number : 20 Question Id : 92090625630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
In a certain code 'BRIGHT' is written as ‘ATHIGVY' then in the same code

Statement | - 'NORTH' will be written as ‘"MP5SVG' and

Statement I © "WATER' will be written as 'VCS5GS'

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

Options :

920906101277. 1
920906101278. 2
920906101279. 3
920906101280. 4

Question Number : 20 Question Id : 92090625630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :
In a certain code 'BRIGHT' is written as ‘ATHIGV' then in the same code

Statement | © 'NORTH' will be written as ‘'MPSVG' and

Statement I . "WATER' will be written as 'VCSGS'

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true

Options :

920906101277. 1
920906101278. 2
920906101279. 3
920906101280. 4

Question Number : 21 Question Id : 92090625631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mohan invest a certain sum at the rate of Simple Interest 5% per annum. Find the number
of years for which Mohan has to invest the the sum to double his sum:

(1) 25 years (2) 20 years
(3) 18 years (4) 15 years
Options :

920906101281. 1
920906101282. 2
920906101283. 3
920906101284. 4

Question Number : 21 Question Id : 92090625631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mohan invest a certain sum at the rate of Simple Interest 5% per annum. Find the number
of years for which Mohan has to invest the the sum to double his sum:

(1) 25 years (2) 20 years
(3) 18 years (4) 15 years
Options :

920906101281. 1
920906101282. 2
920906101283. 3
920906101284. 4

Question Number : 22 Question Id : 92090625632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sonu and Monu start together from point A to reach to B, with speeds, 5 km/h and 3 km/h
respectively. If Sonu reaches B one hour before Monu, then the distance between A and B

is:

(1)  5km (2) 6km
(3) 6.5 km (4) 7.5km
Options :

920906101285. 1
920906101286. 2
920906101287. 3
920906101288. 4

Question Number : 22 Question Id : 92090625632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sonu and Monu start together from point A to reach to B, with speeds, 5 km/h and 3 km/h
respectively. If Sonu reaches B one hour before Monu, then the distance between A and B
is:

(1) 5 km (2) 6km
(3) 6.5 km (4) 7.5km
Options :

920906101285. 1



920906101286. 2
920906101287. 3
920906101288. 4

Question Number : 23 Question Id : 92090625633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Renu speaks truth in 70% of the cases and Bina in 75% of the cases. The percentage of
ceses they are likely to contradict each other in stating the same fact is:

(M 15% (2) 40%
(3) 7.5% 4) 20%
Options :

920906101289. 1
920906101290. 2
920906101291. 3
920906101292. 4

Question Number : 23 Question Id : 92090625633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Renu speaks truth in 70% of the cases and Bina in 75% of the cases. The percentage of
ceses they are likely to contradict each other in stating the same fact is:

(1 15% (2) 40%
(3) 71.5% 4) 20%
Options :

920906101289. 1
920906101290. 2
920906101291. 3
920906101292. 4

Question Number : 24 Question Id : 92090625634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ifa=130,b =133 and c = 137, There thevalueof a® + b® + -3 abc s

(1) 14200 (2) 14400
(3) 14800 (4) 13800
Options :

920906101293. 1
920906101294. 2
920906101295. 3
920906101296. 4

Question Number : 24 Question Id : 92090625634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ifa=130,b =133 and c = 137, There thevalueof a® + b® + -3 abc is

(Mm 14200 (2) 14400
(3) 14800 (4) 13800
Options :

920906101293. 1
920906101294. 2
920906101295. 3
920906101296. 4

Question Number : 25 Question Id : 92090625635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following discount option in most beneficial for shop keeper?
(A) Successive discount of 20%, 30% and then pay 10% Service Tax.

(B) Successive discount of 30%, 10% and then pay 10% Service Tax.

(C) Pay Service Tax of 10% first, then successive discount of 20%, 30%.
(D) Pay Service Tax of 10% first, then successive discount of 30%, 20%.

Choose the most appropriate answer from the options given below:

(1) D only (2) A, Bonly
(3) B, C, D only (4) A, C Donly
Options :

920906101297. 1
920906101298. 2
920906101299. 3
920906101300. 4

Question Number : 25 Question Id : 92090625635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following discount option in most beneficial for shop keeper?

(A) Successive discount of 20%, 30% and then pay 10% Service Tax.

(B) Successive discount of 30%, 10% and then pay 10% Service Tax.

(C) Pay Service Tax of 10% first, then successive discount of 20%, 30%.

(D) Pay Service Tax of 10% first, then successive discount of 30%, 20%.

Choose the most appropriate answer from the options given below:

(1) D only (2) A, Bonly
(3) B, C, D only (4) A, C Donly
Options :

920906101297. 1
920906101298. 2
920906101299. 3
920906101300. 4



Part B: M A Education

Section Id : 920906508
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906824
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090625636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Operation Blackboard is a salient recommendation of:

1. National Education Policy 2020

2. National Education Policy 1986

3. National Knowledge Commission

4. Secondary Education Commission
Options :

920906101301. 1
920906101302. 2
920906101303. 3
920906101304. 4

Question Number : 26 Question Id : 92090625636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ST &b a8 B g -

1. WP e ifd 2020
2. TPTY fRram ifd 1986
3. P M SR

4. HieATH e mam

Options :

920906101301. 1
920906101302. 2
920906101303. 3
920906101304. 4

Question Number : 27 Question Id : 92090625637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the
other is labelled as Reason R

Assertion A: Online education provides opportunities to access, equity and
equality in education to the learners.

Reason R: Online Education is still faces the digital divide.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is not the correct explanation of A
3. Ais correct but R is not correct
4

. A is not correct but R is correct

Options :

920906101305. 1
920906101306. 2
920906101307. 3
920906101308. 4

Question Number : 27 Question Id : 92090625637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR FuRUMS:
DY |: ST FR1& BHET D1 R & FHI FHA & FTH 3R UgH Sl o |
DU 11: s e s oft Sfored vem &1 am- & gl
UG HYA B el J, [T el § | g IR &1 994 DI
1. AR RIHAI TR § SRR, A D! B! B &
2. A 3R R Gl ¥El § Al R, A B G5! ARAT T8 &
3. AUSI e AfBIRTE@TE
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Options :

920906101305. 1
920906101306. 2
920906101307. 3
920906101308. 4

Question Number : 28 Question Id : 92090625638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The nearest English translation of 'Gestalt' as in Gestalt psychology is:
1. Configuration or Whole

Parts

Elements

-l

Constituents

Options :

920906101309. 1
920906101310. 2
920906101311. 3
920906101312. 4

Question Number : 28 Question Id : 92090625638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TRefee TAagH H TReTee Weg o1 Sidsl Farrd 2rsg ¢
1. IS fyar gw g

2. HM

3. 3P

4, UTH

Options :

920906101309. 1
920906101310. 2
920906101311. 3
920906101312. 4

Question Number : 29 Question Id : 92090625639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

LIST I LIST I

A. Benjamin Bloom I. Mastery learning

B. Albert Bandura Il. Social learning

C. David and Roger Johnson Ill. Cooperative learning
D. Robert Gagne IV. Conditions of learning

1. A-IV, B-lll, C-lI, D-I
2. A-l, B-ll, C-IV, D-lll
3. A, B, C-llil, D-IV
4. A-ll, B-llI, C-1, D-IV

Options :

920906101313. 1
920906101314. 2
920906101315. 3
920906101316. 4

Question Number : 29 Question Id : 92090625639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 1 1 gl 1 ¥ e siferg

& il

A. SR SIH 1. ATE Rrafor

B. 3fcdc agdl 1. HATfoTeR fRragor
c. 38 IRASRTHA 1. TEaHaaP &
D. & T v. ST fraor

1. A-IV, B-llI, C-11, D-l
2. A-l, B-ll, C-IV, D-lll
3. A-l, B-ll, C-1il, D-1IV

4. A-ll, B-lll, C-I, D=1V

Options :

920906101313. 1
920906101314. 2
920906101315. 3
920906101316. 4

Question Number : 30 Question Id : 92090625640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SSA stands for:

1. Sarva Shiksa Abhiyan
Samgra Shiksha Abhiyan
Sustainable Shiksha Abhiyan
Social Shiksha Abhiyan

BowoN

Options :

920906101317. 1
920906101318. 2
920906101319. 3
920906101320. 4

Question Number : 30 Question Id : 92090625640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UH. U6, U, (SSA) § arad 81
1. GdrRrem e
2. gHEUReaT st
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a. wrATfoTe fRI& i

Options :

920906101317. 1
920906101318. 2
920906101319. 3
920906101320. 4

Question Number : 31 Question Id : 92090625641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following as ascending stages of moral development:
Self centered stage

Conventional stage

Irrational Conscientous stage

Rational Conscientous stage

m o N = »

Amoral stage
Choose the correct answer from the options given below:

1. A8, G . D E
2 B.CA B E
3B B D A
4 E.A.B.C.D

Options :

920906101321. 1

920906101322. 2

920906101323. 3
920906101324. 4

Question Number : 31 Question Id : 92090625641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Afds 7l o Fafafad 9ol 7 9gd gu s H afyd Sif
A. Tahigd TAI0T/ Sqwl
B. TURNI =0T/ 3T
C. 3fdlidheh SHMGR el
D. Tl SHFGR Sl
E. 3T A=
19 feu 77U fasedi # @ Yad Iugad IR &1 98- Hifet:
1. A, B,C,D,E
2. D, C,A,B,E
3. B, E,D,C,A
4. E,A,B,C,D
Options :
920906101321. 1
920906101322. 2

920906101323. 3
920906101324. 4

Question Number : 32 Question Id : 92090625642 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not an identified domain of learning:
1. Hereditary
2. Cognitive
3. Conative
4. Affective

Options :

920906101325. 1
920906101326. 2
920906101327. 3
920906101328. 4



Question Number : 32 Question Id : 92090625642 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frofefad & & &F 1 siftrm &1 uer i 8
1. R THdT
2. HHFAS
3. fepurats
4. YHEIHE

Options :

920906101325. 1
920906101326. 2
920906101327. 3
920906101328. 4

Question Number : 33 Question Id : 92090625643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Spirituality was the main aim of education during
1. Modern Period
Vedic Period

Islamic Period

i

Post-vedic Period

Options :

920906101329. 1
920906101330. 2
920906101331. 3
920906101332. 4

Question Number : 33 Question Id : 92090625643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



b 1t # FR1801 1 &I £ S1eATH UT?

1. MY FHTd
2. didd HId

3. SIHS B
4. Uy dfe® &1a

Options :

920906101329. 1
920906101330. 2
920906101331. 3
920906101332. 4

Question Number : 34 Question Id : 92090625644 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the
other is labelled as Reason R

Assertion A: Open ended questions are more suitable to get more candid
information from respondents.

Reason R: Open ended questions provide an opportunity to go beyond the
closed option of Yes or No as it gives scope for better expression.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R is not the correct explanation of A

A is correct but R is not correct

W M

A is not correct but R is correct

Options :

920906101333. 1
920906101334. 2
920906101335. 3
920906101336. 4

Question Number : 34 Question Id : 92090625644 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

AP FYARUTE | gl Y dF & TUH A R TR FYA FRU & FY AR
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Options :

920906101333. 1
920906101334. 2
920906101335. 3
920906101336. 4

Question Number : 35 Question Id : 92090625645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A is mortal, B is mortal, A and B are men. Therefore men are mortal. This type
of logical reasoning is
1. Abstract
Absurd

Deductive

B ow N

Inductive

Options :

920906101337. 1
920906101338. 2
920906101339. 3
920906101340. 4



Question Number : 35 Question Id : 92090625645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATHRE, B AW B ASIR B W™ € | SHIAU A8 R 1 39 UBR $I dlichd
GEZ

1. A
2. s

3, A
4. 3THA

Options :

920906101337. 1
920906101338. 2
920906101339. 3
920906101340. 4

Question Number : 36 Question Id : 92090625646 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List [l

LIST | LIST Il
A. University Education Commission . DS. Kothari
B. Secondary Education Commission IIl. S. Radhakrishnan
C. Education and National Development Ill. Yashpal
D. Learning without Burden IV. M. Mudaliar

1. A-l, B-1v, C-lll, D-lI

2. A-Ill, B-lll, C-1V, DI

3. A-ll, B-IV, C-l, D-liI

4. A-l, B-llIl, C-Iv, D-lI
Options :

920906101341. 1
920906101342. 2
920906101343. 3



920906101344. 4

Question Number : 36 Question Id : 92090625646 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 B g 0 A fAEA Sl

gt gt

A. Tayfaemer fRiam smam 1. Sl T, SR
. Hreafis fam smarT 1. O, AUTHoH
e siRApfas . g

. R fen s ® V. TH. HeTferR

1. Al B-IV, C-llI, D=1l

m

.

=

2. A-ll, B-lll, C-1V, D-I
3. A-ll, B-IV, C-l, D-lll
4. A-l, B-lll, G-IV, D-lI
Options :
920906101341. 1
920906101342. 2

920906101343. 3
920906101344. 4

Question Number : 37 Question Id : 92090625647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Advait Vedant philosophy was propounded by:
1. Gautam

Manu

Ramanujacharya

ol

Sankaracharya

Options :

920906101345. 1
920906101346. 2
920906101347. 3



920906101348. 4

Question Number : 37 Question Id : 92090625647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3ed ded o2iF o1 fa- ufure faar:
1. Taw

2. W
3. YHFETE™
4. YEEr]

Options :

920906101345. 1
920906101346. 2
920906101347. 3
920906101348. 4

Question Number : 38 Question Id : 92090625648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Swami Vivekanand was influenced by Swami Ramakrishna.

Statement II: Swami Vivekanand's education remains confined to
Ramkrishna Mission Ashrams

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement Il is incorrect

4. Statement | is incorrect but Statement |l is correct
Options :

920906101349. 1
920906101350. 2
920906101351. 3
920906101352. 4



Question Number : 38 Question Id : 92090625648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906101349. 1
920906101350. 2
920906101351. 3
920906101352. 4

Question Number : 39 Question Id : 92090625649 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ‘Gestalt’ School of learning is associated with.

1. Germany

2. Japan
3. Russia
4. India
Options :
920906101353. 1
920906101354. 2

920906101355. 3
920906101356. 4



Question Number : 39 Question Id : 92090625649 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TeTee JfETH &1 foaR e A ST gan 8|
1. oA
2. WUHA
3. &9
4. MRd

Options :

920906101353. 1
920906101354. 2
920906101355. 3
920906101356. 4

Question Number : 40 Question Id : 92090625650 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The four types of vocational educational institutions must be opened viz.
Trade schools Junior Vocational schools, Senior Vocational schools and
Technical colleges is the recommendation of:

1. Macaulay Minutes - 1835
Kothari Commission - 1964

Wood and Abbott Report - 1937

BowoN

NEP - 1986

Options :

920906101357. 1
920906101358. 2
920906101359. 3
920906101360. 4

Question Number : 40 Question Id : 92090625650 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. HTal fdarul - 1835

2. DGR AT - 1964

3. 98 SR Uale yidded - 1937
4. 1PTY fRren Hifd - 1986

Options :

920906101357. 1
920906101358. 2
920906101359. 3
920906101360. 4

Question Number : 41 Question Id : 92090625651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the
other is labelled as Reason R

Assertion A: Education and Religion are similar to each other.
Reason R: Both lead to spiritual self actualization.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A s correct but R is not correct
4

. A is not correct but R is correct

Options :

920906101361. 1
920906101362. 2
920906101363. 3
920906101364. 4

Question Number : 41 Question Id : 92090625651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

14 G HYA ST B | Ugell HYA dh & TUH A 3R G HYA SRU b FYHR
fergifed fbarman g .

d A: e 3R of ueh gE & I ¢
HRUIR: G 8] TS ATHT Y&THR B 3R o I &

ST HYAT & 3MTelids 1, fGU U fawedi T Q Ugl 3R &l 99+ Hifolu:
1. ASMRRGHTTE & IR R, A P! UL ARSI &
2. AR RGHIHEl g SRR, A D! U ARSI 8] &

3. A9 g Al R UE A8
4. ATAA e AfPIRTE B

Options :

920906101361. 1
920906101362. 2
920906101363. 3
920906101364. 4

Question Number : 42 Question Id : 92090625652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first school for girls in India was opened by:
1. Ramabai Ranade
2. Mirabai
3. Savitribai Phule
4. Ahilyabai

Options :

920906101365. 1
920906101366. 2
920906101367. 3
920906101368. 4

Question Number : 42 Question Id : 92090625652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YRd W asfdhdl & fore Ugan wpd fobddh gRT @il Tr?
1. YHERE IS
2. HRIETE
3. Hifadlars B
4. g arg

Options :

920906101365. 1
920906101366. 2
920906101367. 3
920906101368. 4

Question Number : 43 Question Id : 92090625653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ranks people or objects on a scale of equal units.
1. Nominal scale

2. Ordinal scale

3. Interval scale
4

. Ratio scale

Options :

920906101369. 1
920906101370. 2
920906101371. 3
920906101372. 4

Question Number : 43 Question Id : 92090625653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T3 YA AT DI RIS IDbTs &b Y R Jofidg FA1 8|
1. =TT ATOH
2. it AT
3. 3T A
4. Ui A

Options :

920906101369. 1
920906101370. 2
920906101371. 3
920906101372. 4

Question Number : 44 Question Id : 92090625654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

LIST | LIST I
A. National Education Policy - 2020 I. K. Kasturirangan
B. Education and National Development Il. D.S. Kothari
C. Review Committee - 1986 lll. Sam Pitroda
D. National Knowledge Commission IV. A. Rammurti

1. A-l, B-ll, C-lll, D-1V

2. A-ll, B-lll, C-1, D-IV

3. A-lil, B-IV, C-ll, D-

4. A-l, B-lI, C-1V, D-lll
Options :

920906101373. 1
920906101374. 2
920906101375. 3
920906101376. 4

Question Number : 44 Question Id : 92090625654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl 1 BT gl 1 ¥ fraE siferg
LGl gl
A. BT faT IR - 2020 1. & HIH FH

B. fgm iR AP e . S vy sigr
c. GIeor Biedt - 1986 . IH U=
D. BTG FH 3 V. T

1. A-l, B-ll, C-lll, D-1V
2. A-ll, B-lll, C-1l, D-1IV
3. A-lN, B-Iv, C-11, D-l

4. A-l, B-1l, C-IV, D-III

Options :

920906101373. 1
920906101374. 2
920906101375. 3
920906101376. 4

Question Number : 45 Question Id : 92090625655 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"The Beautiful Tree" is written by-
1. Dharmpal
Narendra Deo

Mahatma Gandhi

oW N

Anil Sadagopal

Options :

920906101377. 1
920906101378. 2
920906101379. 3
920906101380. 4

Question Number : 45 Question Id : 92090625655 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T SIGd ¢ fhad gRI foran T -
1. HgTd
2. g ed
3. W e
4. FT T

Options :

920906101377. 1
920906101378. 2
920906101379. 3
920906101380. 4

Question Number : 46 Question Id : 92090625656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the
other is labelled as Reason R

Assertion A: UGC - Care List has improved the quality of research writing in
India.

Reason R: Quality publication and writing of research papers are increasing
in the country.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is not the correct explanation of A
3. Ais correct but R is not correct

4. A is not correct but R is correct

Options :

920906101381. 1
920906101382. 2
920906101383. 3
920906101384. 4

Question Number : 46 Question Id : 92090625656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



12 Sl Py UITU § | Ugell &Y dh & TUH A 3R GO HY HRU & YT R
fegifea fpgr g .

TP / HHYT A: U T TG &1 [0ra1 B g ol 4. Ha P 961 381 gl
HRUIR: T UG R UHTIH SR Qe U 66 9¢ W8T 2
12 feu e fas ol & 8 998 Iuged IR &1 994 ST

1. AR REH FE € SRR, A BT YS! TS &

2. AR REH G § SRR, A B Aol AR 5l &

3. AYE g Al R USRI R

4. AUEITEIR APIR T

Options :

920906101381. 1
920906101382. 2
920906101383. 3
920906101384. 4

Question Number : 47 Question Id : 92090625657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not Non-Probability sampling
1. Quota Sampling
2. Snowball Sampling
3. Multistage Cluster Sampling
4

. Convenience Sampling

Options :

920906101385. 1
920906101386. 2
920906101387. 3
920906101388. 4

Question Number : 47 Question Id : 92090625657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafefea § 3 oF-a1 e ufae sl 9g+ fafi 781 3
1. @iel ufaed 9g
2. Wsia ufdesiag4
3. SRR Fave] ufdes 994
4. gfauRs ufie 9g4

Options :

920906101385. 1
920906101386. 2
920906101387. 3
920906101388. 4

Question Number : 48 Question Id : 92090625658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement |: The more students elaborate upon new ideas, the deeper their
understanding and better their memory for improving knowledge.

Statement II: Knowledge and memory are closely related variables.

In the light of the above statements, choose the correct answer from the
options given below:

ek

Both Statement | and Statement |l are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement |l is false
4

Statement | is false but Statement Il is true

Options :

920906101389. 1
920906101390. 2
920906101391. 3
920906101392. 4

Question Number : 48 Question Id : 92090625658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R HyEREE:

FYF 1: F ford1 sifiid 7u faarl &1 [9wRu &l § 393! 0 Ted 8ldl &
3R 17 TiteA & fere wgfom +ft dear g1t St €

Y 11: TH IR Ffdl Abe TrEidd R g
SuYge Byl B el H, AU T el # A Ot IIR &1 997 S
1. ®YF AR 1 GH T &
2. HYT | 3R 11 SHT A E
3. BY I T g, Afh HYT 1 ST B
4. BYF | T g, Aldhd YA 11 FA &

Options :

920906101389. 1
920906101390. 2
920906101391. 3
920906101392. 4

Question Number : 49 Question Id : 92090625659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hoshangabad Science Teaching Programme was started in the state of
1. Uttar Pradesh
2. Bihar
3. Rajasthan
4. Madhya Pradesh

Options :

920906101393. 1
920906101394. 2
920906101395. 3
920906101396. 4

Question Number : 49 Question Id : 92090625659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TIRIATETS fag e Srdwn 6w g 8 = gai |
1. IR Y™
2. fagrR

3. SR
4. AOYSY

Options :

920906101393. 1
920906101394. 2
920906101395. 3
920906101396. 4

Question Number : 50 Question Id : 92090625660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the correct statements:

A. Mean is an arithmetic average.

B. Median is not the mid point of distribution.

C. Standard Deviation tells about regularity in data.
D

. In normal probability curve, Mean, Median and Mode falls at extreme
points.

E. Mode is approximate measure of central tendency.

Choose the correct answer from the options given below:
1. Cand D only

A, B and D only

C, D and E only

A, B and E only

BowoN

Options :

920906101397. 1
920906101398. 2
920906101399. 3
920906101400. 4

Question Number : 50 Question Id : 92090625660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

el PUA BT IUA DY
A. HEHM T S Gd B
B. Wl avffeul &1 A fafg 18T 81
c. YA faaeH ugdl § Fafidar &1 adrd g |
D. WM YIS deh UR HeqHH, ] 3R dgad Us oY W iR 81
E. Sgdid, Bisd Ughl &1 Guifdd ArgT g1
1 feu e faeh ol # | e Iugerd 3Tk &1 99 Sifoi:
1. ®4gdC 3R D
2. HadA, B3ARD
3. ®adc, D ARE
4. HAAA, B INE

Options :

920906101397. 1
920906101398. 2
920906101399. 3
920906101400. 4

Question Number : 51 Question Id : 92090625661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'People’s Education Society' was founded by that opened colleges
namely Siddharth college in Bombay and Milind college in Aurangabad.

1. Babasaheb B.R. Ambedkar
2. Acharya J.B. Kripalni

3. Madan Mohan Malviya

4. Gopal Krishna Gokhale

Options :

920906101401. 1
920906101402. 2
920906101403. 3
920906101404. 4



Question Number : 51 Question Id : 92090625661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IYeH Uoh A WA &1 TA] & gRIgs, forei ane o Rygrd
HerdTad ayr simere § fife<s wefdeey G|

1. 141 digd HIRTE sraadh
2. &M S HaaE

3. Ha HIgd HIGdY

4. "I 91 MEd

Options :

920906101401. 1
920906101402. 2
920906101403. 3
920906101404. 4

Question Number : 52 Question Id : 92090625662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the
other is labelled as Reason R

Assertion A: Handwritten manuscripts could not meet the ever increasing
demands for books.

Reason R: Chinese paper reached Europe via silk route.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R is not the correct explanation of A

A is correct but R is not correct

b W N

A is not correct but R is correct

Options :

920906101405. 1
920906101406. 2
920906101407. 3



920906101408. 4

Question Number : 52 Question Id : 92090625662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 A FYA RUTTE | Uge YA b & FUH A 3R TR YA FRU S FY T R
fgifera fra man g -
b A: fddral @1 dgdl Ji B gfd gxafarad siteal § of 181 8l 9ol
ST R: 131 & 0 Ried ¢ 9 g0 9 Y|
e Y=l & 3irciep H, AU e fasedi # § Ul I &1 9= S

1. AR REHI Gl § HRR, A D! &l ATSN &

2. AR RGHI el g 3R R, A DI Hel AR el &

3. AWEE Al R e TET R

4. ATSI TSR APIRTEIR

Options :

920906101405. 1
920906101406. 2
920906101407. 3
920906101408. 4

Question Number : 53 Question Id : 92090625663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"I never teach my pupil, | only attempt to provide the conditions in which
they can learn” -Albert Einstein.
The term 'Conditions' denotes-
1. Social
Cultural

Environment

AW

Political

Options :
920906101409. 1
920906101410. 2



920906101411. 3
920906101412. 4

Question Number : 53 Question Id : 92090625663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"B 30 Rred) &1 it 98 uerdn| B9 Faw 3% uRifRufedl 3 1 gag &t ford
98 UG 9" | - fesc Hg~Heg
B (URFUR) U 13 81 -

1. HHA

2. U&pfd
3. didiado
4. eI

Options :

9209061014009. 1
920906101410. 2
920906101411. 3
920906101412. 4

Question Number : 54 Question Id : 92090625664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement |: Gender as masculine or feminine is a social construct.
Statement II: Sex as male or female is a biological construct.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4

Statement | is incorrect but Statement |l is correct

Options :
920906101413. 1



920906101414. 2
920906101415. 3
920906101416. 4

Question Number : 54 Question Id : 92090625664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR mE:
YT 1: TS SR g & ¥4 8 9A g1 i fea marg |
Y 11: fei1 Afge iR 4oy 3t Sifdd e gl
SUad HYHT & fTaid 1, U T fadeul I 9 981 IR &1 994 Hifolt:
1. YT 3R 1 Tel 8
2. ®YF 1 3R 1 SHI AT §
3. HY 1 Tel &, AP HY 1 7Tad &
4. BYH 7T g, AfeA Y 11 T 8

Options :

920906101413. 1
920906101414. 2
920906101415. 3
920906101416. 4

Question Number : 55 Question Id : 92090625665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Swayam Prabha is-
1. A book
2. Online learning platform/channel
3. A tourist destination
4. Online shopping platform
Options :
920906101417. 1

920906101418. 2
920906101419. 3



920906101420. 4

Question Number : 55 Question Id : 92090625665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WU &

1. fhaE
2. TS f&UL-3HfeRTH WewlH / 9-d
3. ¢hwe SReAwm
4. Si-Tcg MY Tehid

Options :

920906101417. 1

920906101418. 2

920906101419. 3
920906101420. 4

Question Number : 56 Question Id : 92090625666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which does not belong to Guilford's model of intellect.
A, Intellectual activity can be described in the basic parameters.

B. There is a hierarchical structure for the organisation of human
intelligence.

C. Intelligence consists of 150 abilities.
D. There are six types of products.
E. There are five types of operation and contents.

Choose the most appropriate answer from the options given below:

1. Bonly

2. Conly

3. Aonly

4. C,Dand E only
Options :

920906101421. 1



920906101422. 2
920906101423. 3
920906101424. 4

Question Number : 56 Question Id : 92090625666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FIA®IE & g B W11 8 19 91 Hag Tel 8

A. Sifge TAfaitRl 36 ST IRTHieR | SAReATd 8l ol g
B. U4 §fg & a1 H USHm I g1

. §fg # 150 ArOan g 2

D. &: YR & IdIE gl

E. Ul UbR &1 Hfeham ¢k fawa axg g

412 fu U fas el # 8 Ty IUgd] IR 1 994 Pl
1. Hdds
2. Fadc
3. FAAA
4. Padc, D ARE

Options :

920906101421. 1
920906101422. 2
920906101423. 3
920906101424. 4

.

Question Number : 57 Question Id : 92090625667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Kert Lewin (1890 -1947) has proposed-
1. Insight Theory
2. Humanistic Theory
3. Information Processing Theory
4,

Field Theory

Options :



920906101425. 1
920906101426. 2
920906101427. 3
920906101428. 4

Question Number : 57 Question Id : 92090625667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e dfd- (1890 -1947) 7 UEATfad -

1. 3ide® & s
2. HHddmErd] fagid
3. oA ufehar fgid
4. &7 fusia

Options :

920906101425. 1

920906101426. 2

920906101427. 3
920906101428. 4

Question Number : 58 Question Id : 92090625668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One can use median when one wants to find out:
1. Average of the given data.
Variance in the given data.

Correlation in the given data.

W M

Mid point of the given data.

Options :

9209061014209. 1
920906101430. 2
920906101431. 3
920906101432. 4

Question Number : 58 Question Id : 92090625668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

HITRIHT BT WIRT {601 S bl & id g1 W H1 918d -
1. feu e vei &1 ofvrd
2. fRuTMuyCESH faaeA
3. f3u U el &1 wgdiey
4. fRumMuyeHi 1Ay fag

Options :

920906101429. 1
920906101430. 2
920906101431. 3
920906101432. 4

Question Number : 59 Question Id : 92090625669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What was the chief aim of Education in Ancient period.
Physical Development

Spiritual Development

Moral Development

Enhancement of knowledge

m o N wm >

Social Development

Choose the correct answer from the options given below:
1. A Bonly

B, D only

C, D, E only

A, C, Eonly

ol

Options :

920906101433. 1
920906101434. 2
920906101435. 3
920906101436. 4



Question Number : 59 Question Id : 92090625669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dfe® P17 218 &1 ey SExg |1 U?

A. IRIRNG faer™

B. THIES s

S IGCAGEL

D. FHAEaLH

E. G A

i e e fas el 7 & Fet I &1 994 DI
1. ddA, B
2. &ddsB,D
3. &ddC,D,E

4, HAAA,CE

Options :

920906101433. 1
920906101434. 2
920906101435. 3
920906101436. 4

Question Number : 60 Question Id : 92090625670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement |: Socio-economic status and school achievement are often
correlated.

Statement Il: The longer a child lives in poverty, the greater impact on
achievement.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both Statement | and Statement Il are correct
Both Statement | and Statement Il are incorrect

Statement | is correct but Statement [l is incorrect

oW M

Statement | is incorrect but Statement Il is correct

Options :

920906101437. 1
920906101438. 2
920906101439. 3
920906101440. 4

Question Number : 60 Question Id : 92090625670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GIECICIC G
FYA 1: GHATE- 3P TR 3R Afée Iuafs urg: Ggddid g |

Y 11: o7 T IHY dF g THIE! | oitdl § 391 81 dal U It
IUdte WUSdigl

Y Sl B 3l 1, AU e fdaedi @ Ul Iav &1 994 B
1. @Y1 R 1 SHI g 8
2. YA R 11 I TTAd &
3. Y19 g, Tfh HY 1 7Tad &
4. HYF 17 g, AfBA HYH 11 T 8

Options :
920906101437. 1
920906101438. 2



920906101439. 3
920906101440. 4

Question Number : 61 Question Id : 92090625671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who proposed the hierarchical structure of needs-
1. E. Maslow
2. Abraham Maslow
3. Carl Rogers
4

. Jean Piaget

Options :

920906101441. 1
920906101442. 2
920906101443. 3
920906101444. 4

Question Number : 61 Question Id : 92090625671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ISl BT UaIehiie fgid foad grr ufduifed faar mar
1. 3.9l
2. 3fsTeH Aual
3. @A oy
4. o foart

Options :

920906101441. 1
920906101442. 2
920906101443. 3
920906101444 4

Question Number : 62 Question Id : 92090625672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The children who are good in mathematics will be good in every other
subject. This statement will be supported by:

1. Multi Factor Theory of Intelligence
2. Spearman's Two Factor Theory
3. Guilford's Model of Intellect

4. Unitary Theory of Intelligence

Options :

920906101445. 1
920906101446. 2
920906101447. 3
920906101448. 4

Question Number : 62 Question Id : 92090625672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d J1ce off 0T fawg H 38 id €, TUN oX a9 H of&d BId § | 39 U &1
YA fad g1 [ g »

Options :

920906101445. 1
920906101446. 2
920906101447. 3
920906101448. 4

Question Number : 63 Question Id : 92090625673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1l

LIST I LIST Il
A. Psycho social Development |. Kohlberg
B. Cognitive Development Il. Erik Erikson
C. Moral Development lll. Jean Piaget
D. Socio Cultural Development V. Vygotsky

1. A-ll, B-IV, D, D-llI
2. A-ll, B-lll, C-I, D-IV
3. A-ll, B-l, C-lll, D-IV
4. A-l, B-ll, C-Iv, D-liI

Options :

920906101449. 1
920906101450. 2
920906101451. 3
920906101452. 4

Question Number : 63 Question Id : 92090625673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 1 gl 1 ¥ aE sifere

gt gt

A. HAETHISE a6 . Higaat

B. HIMIES faa . TR TRaEA
c. Aft® faem . foF O
D. UMb Wi idd fabry v, diamesl

1. A-ll, B-IV, D-1, D-I

2. A-ll, B-lll, C-1, D-IV

3. A-ll, B-l, C-lll, D-IV

4. A-l, B-ll, C-Iv, D-lIl
Options :

920906101449. 1
920906101450. 2



920906101451. 3
920906101452. 4

Question Number : 64 Question Id : 92090625674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

6 percent of the GDP must be spent on Education was the recommendation
of:

1. Kothari Commission

2. Mudaliar Commission

3. Radhakrishnan Commission
4

Chattopadhyay Commission

Options :

920906101453. 1
920906101454. 2
920906101455. 3
920906101456. 4

Question Number : 64 Question Id : 92090625674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GDP @1 6 Ul Rien W &4 g1 918y, I8 i fad! un
1. PIBRT AR

2. VGIerAY SaRT
3. YIHUME AR
4. FSUTEATY AT

Options :

920906101453. 1
920906101454. 2
920906101455. 3
920906101456. 4

Question Number : 65 Question Id : 92090625675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement |: Social mobility is a process for social change.
Statement II: Social mobility cannot occur in closed caste based society.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both Statement | and Statement Il are correct
Both Statement | and Statement Il are incorrect

Statement | is correct but Statement |l is incorrect

B oM

Statement | is incorrect but Statement Il is correct

Options :

920906101457. 1
920906101458. 2
920906101459. 3
920906101460. 4

Question Number : 65 Question Id : 92090625675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fa g sy RTME -

Y 1: GHTfore ufada & fere wmfores nfaefied v ufean g |
Y 11: GAToIE nfogiedn dg s srenfyd wars § gfed 78l 81 uadl|

SUE HYAT & 3fTeia |, fGu U fawedl § 9 UEl I’ &1 99 HIfeIT:

1. FYT IR A e g
2. HYT R NI A E
3. &Y 19! g Al FYAnTad g
4. YA 17T 8, AfBT YT 1 IS E

Options :

920906101457. 1

920906101458, 2

920906101459. 3
920906101460. 4

Question Number : 66 Question Id : 92090625676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
MOOC stands for:
1. Minimum Office Operation Center
Massive Open Online Courses

Maximum Open Offered Courses

fuo Aw o

Maximum Operational Open Courses

Options :

920906101461. 1
920906101462. 2
920906101463. 3
920906101464. 4

Question Number : 66 Question Id : 92090625676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MOOC @] BIdl &-
1. HifFTy Sy v =

2. AT 3fUA A B
3. AfGHAA 3T 31FS FEd
4. AFHAA TREEW 304 HrEH

Options :

920906101461. 1
920906101462. 2
920906101463. 3
920906101464. 4

Question Number : 67 Question Id : 92090625677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange in chronological order-

Right to Education Act (RTE)-
Right to Information Act (RTI)
Ram Murti Review Committee

Prof Yashpal Committee

m o N = P

Justice Verma Committee
Choose the correct answer from the options given below:
1. BACDE
2. CDBAE
3. ABCDE
4. EDCBA
Options :
920906101465. 1
920906101466. 2

920906101467. 3
920906101468. 4

Question Number : 67 Question Id : 92090625677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BIAHHIR HdRYd BT ;
A. e &1 e (3R &5)-
B. I &1 HAUBR (3R 13MTs)
c. I geian i
p. Wl gegre wiafa
E. Sifeeq quf uffa
IuE HUl & TaD |, [Gu U Al # 3 Ul IR &1 99 S
1. BACD,E
2. CCD,B A, E
3. A B,CDOE
4. E,D,C, B, A

Options :
920906101465. 1
920906101466. 2



920906101467. 3
920906101468. 4

Question Number : 68 Question Id : 92090625678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

LIST | LIST Il
A. Humanistic Theory I. E.L. Throndike
B. Experiential Learning Il. Wolfgang Kohler
C. Insight Theory lll. Carl Rogers
D. Trial and Error Learning IV. Abraham Maslow

1. A-l, B-ll, C-llIl, D-1V
A-IV, B-1ll, C-l1, D
A-lll, B-II, C-I, D-IV
A-ll, B-1ll, C-1V, D-I

o W R

Options :

920906101469. 1
920906101470. 2
920906101471. 3
920906101472. 4

Question Number : 68 Question Id : 92090625678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gl B gt i 9 feE sifse

el T

A. AHadEd figid 1. 3. T YFHeR®
15 30 B £ Lo S | s (2R3 ) (G A S
 deerfagid . ore ded

. Ugd Ua goyd Al v, srsmeH fal

1. A, B-ll, C-lI, D-IV

m

.

=9

2. A-IV, B-llI, C-Nl, D-I
3. A, B-Nl, C-1, D-IV

4, A-ll, B-1iI, C-1V, D-l

Options :

920906101469. 1
920906101470. 2
920906101471. 3
920906101472. 4

Question Number : 69 Question Id : 92090625679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ICT stands for:

1. Internations Communication Technology

2. Information and Communication Technology
3. Internals Communication Technology
4

Informative Communication Technology

Options :

920906101473. 1
920906101474. 2
920906101475. 3
920906101476. 4

Question Number : 69 Question Id : 92090625679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



318, |, 1. (1cT) 1 i i &-

1. $CYAE UUE HYFASHRHE Sl
2. ZHIHYA UUS G Saarel
3. $C3d UUS HIYAHTE Sl
4. SpTHICT UUS HRIAGYA caHaral

Options :

920906101473. 1

920906101474. 2

920906101475. 3
920906101476. 4

Question Number : 70 Question Id : 92090625680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Binet and Simon formulae to calculate 1Q is: (CA-Chronological Age, MA-
Mental Age)

MA>100 _

|
, 2 CA Q
2. CA—-MA=1Q-10
CA .
3. MA

4 CAxMA=1Q-100

Options :

920906101477. 1
920906101478. 2
920906101479. 3
920906101480. 4

Question Number : 70 Question Id : 92090625680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



& 3TR TTEHA F1 FfETHe0r B 0T HIA HTE B-

(CA-Chronological Age, MA-Mental Age)

MA X100 _

|
1. CA Q
2. CA-MA=1Q-10

CA
= =1Qx10
3. MA

4, CAxMA=1Q-100

Options :

920906101477. 1
920906101478. 2
920906101479. 3
920906101480. 4

Question Number : 71 Question Id : 92090625681 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following chronologically by the year of their foundations:
A UGC

NCERT

NCTE

IGNOU

NAAC

M Bt 5

Choose the correct answer from the options given below:
T =Bl BB

A-B--D-C-E

A=E=BD-E-R

oW on

B-A-E-D-C

Options :

920906101481. 1
920906101482. 2
920906101483. 3
920906101484. 4



Question Number : 71 Question Id : 92090625681 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RO 99 & YR R FgfiEd Sersi S SrepHAraR Jafeyd Siford :

A. ol (UGC)
B. UAHIS3RET (NCERT)

. YIS (NCTE)

D. SY(IGNOU)
E. UAU U 4. (NAAC)
= feu e fashedt # 9 et 3R 61 99 i
1. A~E-C-D-B
3 A-B=D=C-=E
3. A~-C-D-E-B
5. B-A-E-D-C

Options :

920906101481. 1
920906101482. 2
920906101483. 3
920906101484. 4

Question Number : 72 Question Id : 92090625682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are not directive principles:

A. State shall secure order for the promotion of the welfare of the people.
State shall work to provide employment and education.

State shall promote scientific temper.

Universal Franchise.

m o o,

Judicial Review.

Choose the most appropriate answer from the options given below:
1. A B, Conly

2. Dand E only

3. Band Conly

4. Aand C only

Options :

920906101485. 1
920906101486. 2
920906101487. 3
920906101488. 4

Question Number : 72 Question Id : 92090625682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frofefea # & & @ e o1 Rigia T8 8-
A. HIFd S0 & HaeH §q I & &/ Haed ST gl
B. ISHTR 37 & YaM 63 & [y I &1 B HIA1 8|
C. IS0 B AN HAIG B d I gHT|
D. WAt gt R
E. IR iem
12 feu e fassedi & § Had Iuged IR &1 997 Fifo:
1. &dd A, B, C
2. HaAAD IARE
3. $dds 3R C
4. HAAASRC



Options :

920906101485. 1
920906101486. 2
920906101487. 3
920906101488. 4

Question Number : 73 Question Id : 92090625683 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following thinkers in historical order:
Montessori
Rousseau
Dewey

Froebel

m o nNn w @

Aristotle

Choose the correct answer from the options given below:
1. EACB;D

E.BDCA

A GCIDES

ABECD

AW

Options :

920906101489. 1
920906101490. 2
920906101491. 3
920906101492. 4

Question Number : 73 Question Id : 92090625683 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Foafaiad fide! @1 Udeiie oo o oaftyd Sifer .
A. HieHd

B. &4l

c. Sl

D. Blgd

E. 3]
At feu U faehedl & 8 Ut 3T’ &1 90 ife:
i. E,A,C,B,D
2. E,B,D,C,A
3. A,C,D,E,B
4 A,B,E,C.D
Options :
920906101489. 1
920906101490. 2

920906101491. 3
920906101492. 4

Question Number : 74 Question Id : 92090625684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
OER stands for
1. Offline Educational Resources
Online Educational Resources

Offline Online Educational Resources

A W N

Open Educational Resources

Options :

920906101493. 1
920906101494. 2
920906101495. 3
920906101496. 4

Question Number : 74 Question Id : 92090625684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

OER @RI & -
1. HHARA TSI IEE
2. ST TSI G
3. SR AR ThAd A8
4. 30 U AHRTE

Options :

920906101493. 1
920906101494. 2
920906101495. 3
920906101496. 4

Question Number : 75 Question Id : 92090625685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which is not true for Educational Technology:

1. It helps in effective learning
2. It helps in classroom management
3. It makes learning joyful
4. It can replace the teacher

Options :

920906101497. 1

920906101498. 2

920906101499. 3
920906101500. 4

Question Number : 75 Question Id : 92090625685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Qféres da-iep! & fawa A Aafefaa § @ s gt =21 g»
1. T Wl St H Heg Rl g
2. Ug B Yy H HeE S g |
3. U8 N & 3eyS ¥ B
4. U8 R &1 ufarifid s gdhd g

Options :

920906101497. 1
920906101498. 2
920906101499. 3
920906101500. 4

Question Number : 76 Question Id : 92090625686 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the
other is labelled as Reason R

Assertion A: National Education Policy - 2020 is the most promising policy
document of the post-independent India.

Reason R: National Education Policy - 2020 provides the opportunity for
globalising Indian knowledge system.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct
4. Ais not correct but R is correct
Options :
920906101501. 1
920906101502. 2

920906101503. 3
920906101504. 4

Question Number : 76 Question Id : 92090625686 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

14 8 HuA RU MU § | Ugell HY b & TUH A IR g HYA HRU & FYHR
fegiferd T T 8

P A: HRd BT TSI & T, AP fR1& i 2020 T Smrmse =ifd
XIaH & |

SR R: APTY FRef A -2020, HRAE T AR ST GAHIHS B 8 SaWR
e Sl B

I YT & HTad 1, U 7 fadbedt I § UEl IR &1 994 Hiforu:
1. A SRR EFI TSI § 3R R, AT UEI RS &
2. AR REFI TSI 3R R, A DI A TR T8l &
3. AWE!E Al RS TEl 8
4. AN TRIGAPIR UG E

Options :

920906101501. 1
920906101502. 2
920906101503. 3
920906101504. 4

Question Number : 77 Question Id : 92090625687 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The 'discovery method' of teaching also known as -
1. Lecture method
Problem solving method

Heuristic method

Wk

Demonstration method

Options :

920906101505. 1
920906101506. 2
920906101507. 3
920906101508. 4

Question Number : 77 Question Id : 92090625687 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

e &t @t fafer s am § ot Sl S g 9 -
1. M fafy
2. O gAY fafy

3. ggRfes iy
4. veSH fafy

Options :

920906101505. 1
920906101506. 2
920906101507. 3
920906101508. 4

Question Number : 78 Question Id : 92090625688 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The 5E's instructional model based on contructivist theory of learning does
not include.

1. Engage
Elaborate

Evaluate

oW oM

Eradicate

Options :

920906101509. 1
920906101510. 2
920906101511. 3
920906101512. 4

Question Number : 78 Question Id : 92090625688 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ST & HXaHar) Rigid W siuiiid se ek Afsa & Fafaed § @ @
E el 87

1. 7S (HaH)

2. UAERE (fawrom

3. SAQUE (FediaH)

4. WIEHT ([AeT)

Options :

920906101509. 1
920906101510. 2
920906101511. 3
920906101512. 4

Question Number : 79 Question Id : 92090625689 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il
LIST | LIST Il
A. NCERT |. Social Science Research
B. UGC Il. Technical Education
C. AICTE Ill. Higher Education
D. ICSSR V. School Education
1. A-IV, B-lll, C-ll, D-I
A-l, B-1l, C-1lI, D-IV
A-1, B-1Il, C-ll, D-IV
A-ll, B-lI, C-I, D-IV

ol

Options :

920906101513. 1
920906101514. 2
920906101515. 3
920906101516. 4

Question Number : 79 Question Id : 92090625689 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

AT 1 &1 gl 1 ¥ e Siferg

il gt i
A. TAHI S R (NCERT) 1. WIS A9 SrqRiy™
B. Juil Hl(UGC) I 3= e

USMS T ES (AICTE) 1. ThATam] e
D. MTSHTHUHSNR (Icssr) Iv. faemmerdt fren

1. A-lV, B-lll, C-1l, D-l

.

2. A-l, B-ll, C-lll, D-1V
3. A, B-lll, C-ll, D-1V

4. A-ll, B-lll, C-I, D-1V

Options :

920906101513. 1
920906101514. 2
920906101515. 3
920906101516. 4

Question Number : 80 Question Id : 92090625690 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The structure of education is given by NEP 2020-
10+2+3
Multiple Entry - Multiple Exit
5+3+3+4

Academic Bank of Credits

m O 0O »m p

Discipline Specific Education

Choose the correct answer from the options given below:
1. B,C Donly

A, B only

C, D, E only

B, E, A only

W oN



Options :

920906101517. 1
920906101518. 2
920906101519. 3
920906101520. 4

Question Number : 80 Question Id : 92090625690 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RIETY R Hifd-2020 F GR 01 17 R181 B W= &1 W 0-
A 10+2+3
B. Wgwaid WAy 3R fAfH
C. 5+3+3+4
D. UheiHd dd 3 thise
E. Fgid fadm fran
-2 feu 1Y fasedt 7 4 Hel IR 31 98 SIforg:
1. $ddB,C,D
2. HAdA,B
3. $gUC,D,E
4. HAAB, E A
Options :
920906101517. 1
920906101518. 2

920906101519. 3
920906101520. 4

Question Number : 81 Question Id : 92090625691 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The two main branches of Jainism are:
A. Narampanthi and Charampanthi
Sunyavad and Vigyanvad
Digambar and Svetambar
Nirankari and Nihang

Sukhvad and Dukhvad

L B

Choose the most appropriate answer from the options given below:
1. Aand D aonly

B and E only

A only

ol R

C only

Options :

920906101521. 1
920906101522. 2
920906101523. 3
920906101524. 4

Question Number : 81 Question Id : 92090625691 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O G & < BT Wl § -
A. TR UAT 3R T Tedt
B. YUAIG 3R fagarg
c. fameR 3ik JansRr
p. P& iR FEm
E. EdIg 3R g:@dig
e feu 7 faredl W 9 el IT &1 994 SIfee:

1. $AdAMRD

2. Had s IARE

3. HadA

4. FHATUC



Options :

920906101521. 1
920906101522. 2
920906101523. 3
920906101524. 4

Question Number : 82 Question Id : 92090625692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Shiksha Mein Badlav Ka Sawal' is written by-

1. Krishna Kumar
2. Anil Sadgopal
3. Chand Kiran Saluja
4. Ambika Datta

Options :

920906101525. 1

920906101526. 2

920906101527. 3
920906101528. 4

Question Number : 82 Question Id : 92090625692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

21811 7 9eard &1 Harer foral 71 § 596 g1 -

1. U FAR

2. HFE TR
3. dig o |l
4. 3fffgdrad

Options :

920906101525. 1
920906101526. 2
920906101527. 3
920906101528. 4



Question Number : 83 Question Id : 92090625693 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘Teaching Style' refers to-
1. Teaching strategies and methods
2. Content and Lectures
3. Classroom management
4

Model of Teaching

Options :

920906101529. 1
920906101530. 2
920906101531. 3
920906101532. 4

Question Number : 83 Question Id : 92090625693 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Rragor Seft Welfdr 3-
1. Teorfafy siRsgg @
2. v o SR A 9
3. PETUGYT Y
4. & d giaa 9

Options :

920906101529. 1
920906101530. 2
920906101531. 3
920906101532. 4

Question Number : 84 Question Id : 92090625694 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following does not belong to the Technical-Scientific models of
Curriculum Development

1. Carl Roger's Inter Personal Model
Hilda Taba's Model
Goodlad's Model

B WM

Hunkin's Developmental Model

Options :

920906101533. 1
920906101534. 2
920906101535. 3
920906101536. 4

Question Number : 84 Question Id : 92090625694 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

yreadH [d&™ & de-ie! aqi-e UiaHH I &4 91 S&ied T8 -
1. ®Td Ao &1 Sidaiadsd Ufaa
2. fecei-amEr ufda™

3. T[Sus ufauH
4. gt o1 [dpr™ ufcqaE

Options :

920906101533. 1
920906101534. 2
920906101535. 3
920906101536. 4

Question Number : 85 Question Id : 92090625695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following by chronological order:
A. Macaulay Minutes

Indian University Commission

Calcutta University Commission

. Wood's Despatch

m Q9 W

Sargent Plan

Choose the correct answer from the options given below:
T B DB C

C.DE. AR

AD,B,C,E

oW N

Dih:BE C

Options :

920906101537. 1
920906101538. 2
920906101539. 3
920906101540. 4

Question Number : 85 Question Id : 92090625695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HABHYR Fofafad o srafld i
A. A&Td faaro
B. MR fayfaemrey smam
C. DAl f[ayfdered smam
pD. g8 e
E. WToie groH
1 f3u T fas el & 4 wel I &1 9g- S
1. A,B,D,E,C
2. C,D,E,A,B
3. AD,B,C,E
4. D,A,B,E,C

Options :



920906101537. 1
920906101538. 2
920906101539. 3
920906101540. 4

Question Number : 86 Question Id : 92090625696 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Every planning of classroom can be classified under three major plans-
1. Annual plan, Unit plan, Lesson plan
2. Long term plan, Short term plan, Mid plan
3. School plan, Classroom plan, Teaching plan

4. Course plan, Subject plan, Content plan

Options :

920906101541. 1
920906101542. 2
920906101543. 3
920906101544. 4

Question Number : 86 Question Id : 92090625696 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS Hefl-Hef Dol oI J3A a1l & sfaria fauiforg & o gadi 81

1. dif¥e i1, gfHe i, Urd dre
2. STl IS, YT JeH], 7 QiaH
3. faerTerdta GIeT, & a1, S{eaTaeh Trof
4. @Y gro, fawg grer, fasaasg gt

Options :

920906101541. 1

920906101542. 2

920906101543. 3
920906101544. 4

Question Number : 87 Question Id : 92090625697 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Evaluation is:
1. Evaluation = Measurement + Assessment
2. Evaluation = Assessment + Value Judgement
3. Evaluation = Measurement + Value Judgement
4

. Evaluation = Measurement + Assessment + Value Judgement

Options :

920906101545. 1
920906101546. 2
920906101547. 3
920906101548. 4

Question Number : 87 Question Id : 92090625697 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hedid & -
1. Gedid = A9 3R HTHa-
2. HedidH = e AR g FeRo
3. Hedid = A9 3R e FuRo

4. HeiH = AU + 3Tdha- 3R e FAuRo

Options :

920906101545. 1
920906101546. 2
920906101547. 3
920906101548. 4

Question Number : 88 Question Id : 92090625698 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What are the four major forms of Realism?
A. Humanistic Realism

Social Realism

Sense Realism

Meo-Realism

m o N o

Absolute Realism
Choose the correct answer from the options given below:

1. A B C Donly
2. B,C D, Eonly
3. A B D Eonly
4. A B E Conly

Options :

920906101549. 1

920906101550. 2

920906101551. 3
920906101552. 4

Question Number : 88 Question Id : 92090625698 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
urfare & ] 9R U F1§?
A. HFqdTErd gyriare
B. I guriareg

. A3 gurfarg
D. Ta-gyrddrg
E. FRUs gurdarg

-9 feu 1Y faeredt 7 4 Hel IR &1 954 SIfo:

1. $dUA,B,C,D
2. &dquB,C,D,E
3. DA A,B,D,E
4. &dUA, B, E,C

M



Options :

920906101549. 1
920906101550. 2
920906101551. 3
920906101552. 4

Question Number : 89 Question Id : 92090625699 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

NEP-2020 has suggested CPD for Teachers. CPD stands for-
1. Comprehensive Professional Development
2. Continuous Professional Development
3. Circular Progressive Development
4

Cultural Political Development

Options :

920906101553. 1
920906101554. 2
920906101555. 3
920906101556. 4

Question Number : 89 Question Id : 92090625699 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST e i -2020 A FRiaret & forg Wit (cpo)et R 1 81 HidiSt 8-

1. PRI UhYAd Saaure
2. HIY3Y UIHRd SdadHc
3. UgeR URIa Sqaude
4. THed Ulidicdd Sdayie

Options :

920906101553. 1

920906101554. 2

920906101555. 3
920906101556. 4



Question Number : 90 Question Id : 92090625700 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following portal does not help in preparing, storing and sharing
educational resources:

e-Pathshala
2. SWAYAM

3. SAMARTH
4

1

. National Repository of Open Educational Resources

Options :

920906101557. 1
920906101558. 2
920906101559. 3
920906101560. 4

Question Number : 90 Question Id : 92090625700 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frofefad o | SF-91 uidd Riemn i GOR &3, UhEd S SR 91e $3
HHee T8l daial

1. - UIEIEn

2. Wd
3. gud
4. TF.3MR.3{15.3MF (N.R.0.E.R.)

Options :

920906101557. 1
920906101558. 2
920906101559. 3
920906101560. 4

Question Number : 91 Question Id : 92090625701 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Basic characteristics of learning is -
Change in behaviour

Life long process
Reconstruction of experience
Non-transferable

Fixed

m o N = >

Choose the correct answer from the options given below:
1. C,D, Eonly

C, D only

A, B, C only

L

A, E, Donly

Options :

920906101561. 1
920906101562. 2
920906101563. 3
920906101564. 4

Question Number : 91 Question Id : 92090625701 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SHTETH H1 IS v 2|

A. deR H uiadA

B. GigAgd=d Ufehdl

C. SfHd B I

D. HEXdIaRUl

. i

12 fqu 7T fasw ol & 9 Wgl IR &1 94 Bifey:



Options :

920906101561. 1
920906101562. 2
920906101563. 3
920906101564. 4

Question Number : 92 Question Id : 92090625702 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which is the most popular method of Teaching-
1. Lecture Method

Heuristic Method

Project Method

oW

Problem Solving Method

Options :

920906101565. 1
920906101566. 2
920906101567. 3
920906101568. 4

Question Number : 92 Question Id : 92090625702 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4T waferd R fafd &1 9l g2
1. & fafy
2. gORfe® fafd
3. Uegor fafe
4. AR HATYT fafd
Options :
920906101565. 1
920906101566. 2

920906101567. 3
920906101568. 4



Question Number : 93 Question Id : 92090625703 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is an economic necessity:
1. Human Resource Development
2. Increase in Production
3. Poverty Alleviation
4. Social Change

Options :

920906101569. 1
920906101570. 2
920906101571. 3
920906101572. 4

Question Number : 93 Question Id : 92090625703 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad 7 9 -4t snfdfe sravgddl 761 62
1. HHd 9919 [ds™
2. JAEAH G

3. TRIE 3+
4. FWIfSI® dgard

Options :

920906101569. 1
920906101570. 2
920906101571. 3
920906101572. 4

Question Number : 94 Question Id : 92090625704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Professionalism in Teacher Education requires-
A. Professional commitment

Learning from others

Critical reflections

Ability to handle

L R

Managerial skills

Choose the correct answer from the options given below:
1. A Bonly

A, B, Conly

D, E only

C, D, E only

P L R

Options :

920906101573. 1
920906101574. 2
920906101575. 3
920906101576. 4

Question Number : 94 Question Id : 92090625704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST FR1f1 & ATaITGHRo HiT Xl 8-
A. AU Uidaed
B. GWRI G
c. i fRid
D. WHIEH &1 grgal
E. W&t HINd
12 feu e s el # @ 9l I &1 984 BT
1. $AUA, B
2. $AUA,B,C
3. $4uD,E
4. &ddC,D,E



Options :

920906101573. 1
920906101574. 2
920906101575. 3
920906101576. 4

Question Number : 95 Question Id : 92090625705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is the disadvantage of problem solving method?

1. It ensure the active participation of the learners.
2. It helps learners gain scientific view and thinking.
3. It makes learner improve their sense of responsibility.
4. It takes too much time.

Options :

920906101577. 1

920906101578. 2

920906101579. 3
920906101580. 4

Question Number : 95 Question Id : 92090625705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 g &3 &t g1 Far g2

1. U8 ATHGA] F Iy TeHAIa B SMRd Hal o
2. U Rrenfial &1 amfAe =P vd fKiaq v & A gems gl gl
3. Og Rrenffgi # Ade #a &1 smd Bl g g
4. U AUS THg AdT g |

Options :

920906101577. 1

920906101578. 2

920906101579. 3
920906101580. 4

Question Number : 96 Question Id : 92090625706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

NCERT stands for:
1. National Centre for Education Reforms and Teaching
National Council of Educational Research and Training

National Consortium for Education Research and Teaching

e Che

National Centre for Education of Reformation and Training Teachers

Options :

920906101581. 1
920906101582. 2
920906101583. 3
920906101584. 4

Question Number : 96 Question Id : 92090625706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS RE AN BT & -
1. 9T X BR UgHeH R uos A
2. AT HIITA ST Uoh A Rud uos 2m
3. AFd HI-ATCTH BIX Toh A REd ug e
4. FIFE HeX BR TS I ReniE uus 2 S
Options :
920906101581. 1
920906101582. 2

920906101583. 3
920906101584. 4

Question Number : 97 Question Id : 92090625707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il
LIST I LIST 1l
A. Operant Conditioning |. Pavlov
B. Humanistic Theory Il. Skinner
C. Trial and Error Theory Ill. Maslow
D. Classical Conditioning IV. Thorndike
1. A-ll, B-I, C-ll, D-IV

2. A-l, B-ll, C-1v, D-llI
3. A-ll, B-lil, C-IV, D-I
4. A-l, B-IV, C-ll, D-11I

Options :

920906101585. 1
920906101586. 2
920906101587. 3
920906101588. 4

Question Number : 97 Question Id : 92090625707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g1 &1 gt i 9 faE sifse

Rl LGl

. P Uy egdeyE 1. Ulgdd
 AHdaEE frgia 0 R

. U Ud Hd &1 g . Aae

. QIR SfdeA V. YHSIEH

1. A-ll, B-l, C-lI, D-IV

=

m

.

=

2. A-l, B-ll, C-IV, D-lI
3. AL B-lN, G-IV, DA

4. A-l, B-1v, C-lI, D-N

Options :
920906101585. 1



920906101586. 2
920906101587. 3
920906101588. 4

Question Number : 98 Question Id : 92090625708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which is not the example of group activity in classroom:
1. Think-pair-share
Jigsaw

Circle of voice

B W b

Cross word

Options :

920906101589. 1
920906101590. 2
920906101591. 3
920906101592. 4

Question Number : 98 Question Id : 92090625708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 7 9 o1 w1 fawed Han § gyg nfafafl &1 3gewu 78 &2
1. T9IR-g/-A120 (Think-pair-share)
2. SRET Jigsaw)
3. Ufdaf (Circle of voice)
4. THIY S (Cross word)

Options :

920906101589. 1
920906101590. 2
920906101591. 3
920906101592. 4

Question Number : 99 Question Id : 92090625709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Delor's commission recommended to base education on four pillars-learning
to know, learning to do, learning to be, the fourth pillar is:

1. Learning to live happily
2. Learning to practice

3. Learning to live together
4. Learning to die happily

Options :

920906101593. 1
920906101594. 2
920906101595. 3
920906101596. 4

Question Number : 99 Question Id : 92090625709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SR AR A a1 F MR & ¥U H IR Jayd W ot e sl a6
fere g, 4 & fere Tig=, g & fore dirgan, ST Wy € -

1. GYETd Siigd & feru ke
2. 31T & fou dig=n

3. HIY-H1Y TE & forg dan
4. G-l 2e o forg dien

Options :

920906101593. 1
920906101594. 2
920906101595. 3
920906101596. 4

Question Number : 100 Question Id : 92090625710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement |: Gender is a social construction and sex is a biological.
Statement Il: Females face discrimination based on biology.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both Statement | and Statement Il are correct
Both Statement | and Statement Il are incorrect

Statement | is correct but Statement [l is incorrect

oW M

Statement | is incorrect but Statement Il is correct

Options :

920906101597. 1
920906101598. 2
920906101599. 3
920906101600. 4

Question Number : 100 Question Id : 92090625710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A Py RUTUE

FY |: ST AT W1 8 3R e wifds TRe g
FY 11: AR IRIRNG SMYR IR TS &1 JHAT B g |
IugE HYAT & 3fTeid 1, U MU fawei 7 9 UEl Ik &1 99 HIIT:
1. FYT IR A el g
2. HYF | 3R 1 S TTEd §
3. ®YT el g, Al FYA N Tad g
4. YT 7Ad g, AT HYT 11 el
Options :
920906101597. 1
920906101598. 2

920906101599. 3
920906101600. 4



